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Atlempt questions from all Sections as per

instructions.

Section-A

(Very Short Answer Questions)

Attempt all the five questions. Each question carries

3 marks. Very short answer is required. Ix5=15
Define a lincar programming problem.

Define money value and present value.,

Define busy period, idle period and mean arrival rate.
Explain travelling salesman problem.

Describe holding cost, shortage cost and erdering cost.
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Section-B
(Short Answer Questions)

Attempt any fwo questions out of the following

three guestions. Each question carries 7% marks.
Short answer is required. TVix2--15
6. Solve the following assignment problem :
Subordinates
I O ] I A

A8 20 17 1
Tasks B {13 28 4 20
C138 19 18 15
D19 26 24 10
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7. The cost of an item is 3,000, The salvage value and
running cost are given below. Find the most cconomical
replacement age of the item

| Year | Running cost | Salvage cost
1 600 2000
2 700 1333
3 800 1000
4 900 750
5 1000 500
6 i 1200 300
7| 1500 300
18019
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8. Findthe sequence that minimizes the otal elapsed time
required to complete the following tasks on two machine :
. |a]s[clp FL I
| Macine-1 | 2 5i4! J'ms}n?'i'é'f'h'f
St S Sl L B Sl Shiall N W
] . N - o [ | |
[ Machine-1 [6 [8 74 ]3]0 ]3] 1]

S‘('('fiﬂ‘ﬂ'c.
(Detailed Answer Questions)
Attempl any three questions out of the following
five questions. Each question carrics 15 marks.
Answer 1s required in detail. 15%3=45
9.  Solvethe following L. P. P. : )
Maximize  z =5x, +3x,
s. L. 3q +5x, <15
5,1'1 +3,l'3 <10
.'I:I., X 20
10.  Solve the following transportation problem :
To
1 2 3 Supply
| 2 7 41 5
From 2 3 31 8
3 5 4 7 7
4 1 6 2 14
Demand 7 9 18 34
18019
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The cost pattern for two machines A and B when

moncy value is not considered is given as follows

—

Year [Costat the lgh.‘mnmnng of year mRs
Machine A Machine B
o 1 _”900 I "-14“'[}
2 600 104)
3 700 700
© Towl | 2200 | 2200

Find the cost pattern for each machine when moncey
worth 1s 10% per year and hence find which machine is
lcss costly.
We have five jobs, cach of which must go through the
machine A, B and C in the order ABC :

Processing Times in hours

JobNo. i 112]3[4]s
Machine A(4) [5|7]6]9]5
MachineB(B) |2 ]114]5]3
Machine C(C}) [3[7]5]6]7

Determine a sequence for the jobs that will minimizc the
total clapsed time.

Customers arrive at a sales counter manned by a single
person according to a Poisson process with a mean
rate at 20 per hour. The time required to serve a
customer has an expontential distribution with a mean
of 100 scconds. Find the average waiting time of a

customer and queue length.
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